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1. A0 THEER IR

T f# 4 B HAL AL A2 it
Pk T
L-500x500 o ck=18N/mm2 m 16.9 16.9
HP ¢ 300 " 17.2 17.2
1 5H8KET B500-L500-H700,7)—b25 & 5T 1 1
175 5 ) AR
Y —k o ck=21N/mm2 m 3.5 3.5
TP HE ) m’ 8.1 8.1
St RC-40 I 4.1 4.1
=Rl —n ks & AT 2 2
M A ¢ 180 m 0.8 0.8
#£/5(D13(SD295A) kg 8.4 8.4
25 1 ) A pehE
a Y —k o ck=18N/mm2 m® 4.7 4.7
T HE ) m” 32.4 32.4
St RC-40 I 10.0 10.0
Ty JFEHEREA
2))=7 ny sk 2350 m” 3.0 21.0 24.0
fRiA®H 7Y —h o ck=18N/mm2 m’ 0.7 4.6 5.3
HiA»ar7)—hk | o ck=18N/mm2 t=150 m® 0.5 3.2 3.6
A A RC-40 m’ 1.3 8.6 9.9
7 a7 TEBEREB
2))—=7 ny s 2350 m” 7.9 7.9
fifiAH= 27—k ¢ ck=18N/mm2 m® 1.7 1.7
HARA RC-40 m® 2.8 2.8
TR )—h
TR ) —PA o ck=18N/mm2 m 0.9 6.1 7.0
T 7)—bB " m 7.1 7.1
Ky 7y —h
Kiars)—pA o ck=18N/mm2 m 0.9 6.1 7.0

Ky 7—kB I m 7.1 7.1




T FE & B O BANT ALER A2 &t

a7 —h

g 70 —RA o ck=18N/mm2 m 0.5 6.0 6.5

Hgg=m 71— B I 7.0 7.0
/A IET

A IETA o ck=18N/mm2 & T 1 1

/O IR TB n & 1 1

/a1 T.C n AT 1 1

/N IETD n & 4 4
S oA S/

6007 & AT 1 1
DY LD 1)~ MK

NN o ck=18N/mm2 3 29.0 29.0

Tl AR S 2 11.4 11.4
Hri A Fe T2

75777 4+—LNF50 m’ 96.3 96.3
Tayr<vh

Tuay vk m? 19.8 19.8
5 R

Gr-C-B 155 J1 2 CHRRE HL D 1A F m 2.7 2.7
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2. JEAK T

HEK T B EEt &

T & 4 i) B & BAZ B = it F &
K B L

L-500 x 500 | o ck=18N/mm2 m 16.9

HP ¢ 300 17.2

1 5 # /K % 9 |B500-L500-H700,27)—h:#% &R 1.0




ArEE &K A1 T T iR E
1.-500x500
T =y JERSUTEE | i il = ERSXEEL | 1
NO.0+98.00 ~ NO.1+5.60 16.90
AEF 16.90 m aF m
Y = e Iz T iR E
HP ¢ 300
T =y SERSUIEE | W B il = FERSXEEL |
NO.0+98.00 ~ NO.0+99.00 16.90
NO.0+99.00 0.30
&t 17.20 m &k m
By = £ oKk B & PT iR EF
158EKET
i =y SERSUIEE | W & H f= FER ST EEL | D
NO.0+99.00 1 eyl
At 1 & At &
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()15 8 ) ek

¥ O H = 1/2 X ( 1.600 + 1.320 ) = 1.460 m
B =( 040 + 0.70 ) X 1.460 = 1.606 m
LR L = 2.400 m
JB40 00 1770 . 2450 ;
30 1700 72
'?é e e b T
‘J ‘;Il?r‘ali.ﬁgb f 175,15 _,.ﬂ—-'-i—z‘-l"-"-%":-u'trr S
E I o
s E: " =
=176 83 S w176, 33 176 83
= = B o =
] \\\ = w4 ‘\\ ol
2160 1_49 . ﬁ“f L 2 M1 %Eﬂ#
1) 22— (MRS . o ck=21 N/mm?)
V= 1/2 x ( 0.400 +  1.606 ) X 1.460 X 2.400
2) TR (MRS &)
A= ( 1.460 X (J (0.4°2+1)+y/ (0.7°2+1)) X 2.400
3) EeErA (RC-40, t=150)
A=( 1606 + 0.100 ) X 2.400
4) T—RL— L5tk
N = 2 & AT
FME A ¢ 180 L = 0400 X 2
R THD13(SD295A) W= 2100 X 0.995 X 4

3.501

8.05

4.09

0.80

8.36

kg



(2)275 H /) (PR

Yy H = 0.950 m
B = 0.390 m
EE L = 16.900 m
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[
E}H 23.]'!
P
_EE |00 350 (120

K40 s

Ly

1) =227 — bk (BEFHEEY) ., o ck=18 N/mm?)

V=12 X ( 0200 + 039 ) x 0950 X 16.900 = 4.74 3
2) B (I R )

A= 0.950 X (1+/ (0.272+1)) X  16.900 = 3243 p?
2) Bt (RC-40, t=150)

A = 0.590 X 16.900 = 9.97 p?



4. 7y I FEPERE

T f# 4 B ALHR A2 al

Ty JFEHEREA

2))=7 ny sk 2350 m” 3.0 21.0 24.0

fiiA®H 7Y —h o ck=18N/mm2 m’ 0.7 4.6 5.3

Hidvar7Uy—hk | o ck=18N/mm2 m® 0.5 3.2 3.6

AW RC-40 m’ 1.3 8.6 9.9
7 a7 FEBEREB

2))=7 ny sk 2350 m” 7.9 7.9

fiiA>= 7Y —k | o ck=18N/mm2 1.7 1.7

HARA RC-40 2.8 2.8
TR )—h

FHEEa /) —PA o ck=18N/mm2 0.9 6.1 7.0

FHEEa /) —hB I 7.1 7.1
Ky 7y —h

K )—hA o ck=18N/mm2 0.9 6.1 7.0

Kifar7)—hB I 7.1 7.1
Hefg=a 7)) —h

a7 —hA o ck=18N/mm2 0.5 6.0 6.5

FefEar /) —1B " 7.0 7.0
/NAIET

/NAIETA o ck=18N/mm?2 AT 1 1

/N IETB N = 1 1

/SNEIET.C " AT 1 1

/JNEIETD N = 4 4




2. 7y 7 REHERE (PE350(7H) )

(D) ALES 7 oy /FEHEREA N
EEVAL -‘:L;f?,t?*“
SNgEm - \y-’ Eﬁ’: :r\\\

1L B s - W\

620

e

4130
40201310

P -hT 7R = SLXIERE

A= 7Y —h (18N/mm2) AX0.22 (mi)
HiAMas)—b  (18N/mm2) AX0.15 (m)
EADMMrmAE =(0.200+0.601)/2%y (1+0.50°2)*(4.030+0.350+0.100)= 2.01 (nd)

7 vty 7 R IRIA D3 7 —b BAD A ) )~ - BADES

WEEEE H N AL AT, B5ASD FLADI
SL SLY¥H miAE | 20 AN mrmss | EH S
(m) (m) (m) Alnt) m m (nt) (nt) m)
4.03 0.5 451 2.01
0.48  4.03 0.5 451 4,510  2.16 2.0l 2.010  0.96
0.37  0.00 0.5  0.00 2.255  0.83 0.00 1.005  0.37
7t 2.99 0.66 0.45 1.33
SHEka 7Y—hA
L= = 0.85m
Kigar7Y—bA8N/mm2)
L= = 0.8 m
ForgEa 7Y —bA(1SN/mm2)
L= = 048 m
/A 1E TAI8N/mm2)
N= = 1 BT
/0 1k T.B(18N/mm2)

N= = 1 &R



(2) ALER 7 my/fEHERER

P -hT 7R = SLXIERE
A7)~

(18N/mm2)

100,250 1100

AX0.22 (m)

FHADMWTHIRT =(0.200+0.321)/2%/ (1+0.50"2)%(1.000+0.250+0.100)= 0.39 (nf)
7oy A EADH
RO EASSZL AT FLADK
BEEEE H N g
SL  SLYy  iifH Wrimfs | ¥ R
(m) (m) (m) | Alm)  m (nf) | (m)  (m)
0.00 0.5 0.00 0.00
0.09  1.00 0.5 112 0.560  0.05 0.39 0.195  0.02
6.99  1.00 0.5 1.12 1.120  7.83 0.39 0.390  2.73
0.05  0.00 0.5  0.00 0.560  0.03 0.00 0.195  0.01
st 791 1.74 2.76
& 7)—-1B
L= =  7.08m
K2 7U—rB(18N/mm2)
L= =  7.08m
FerfEa7)—B(18N/mm2)
L= =  7.04m
/INA IE T.C(18N/mm?2)
N: = 1 %F)T
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(3) A2ER 7 myJREHREEA Wy Eames

\ /// T EEI= 4

? L AERII-A

Ny A v 177.37
"y

1o

3200

200 {3470)
3550

P -hT 7R = SLXIERE

A= 7Y —h (18N/mm2) AX0.22 (mi)
HiAMas)—b  (18N/mm2) AX0.15 (m)
EADMMrmAE =(0.200+0.518)/2%y (1+0.50°2)*(3.100+0.350+0.100)= 1.42 (nf)

7 vty 7 R IRIA D3 7 —b BAD A ) )~ - BADES

MEEE N AP | HIEJ%:‘/ %51[\? ! FLADK
SL SLEy mifk VN TR wpmieg R R
(m) (m) (m) | Alm) m m (nf) () (m)
3.10 0.5  3.47 1.42
3.63  3.10 0.5  3.47 3.470 12.60 1.42 1.420  5.15
0.82  0.00 0.5 0.00 1.735  1.42 0.00 0.710  0.58
0.00 0.00 0.00
0.93  3.10 0.5  3.47 1.735  1.61 1.42  0.710  0.66
1.54  3.10 0.5  3.47 3.470  5.34 142 1.420  2.19
&t 20.97| 4.61 3.15 8.58
GLEESVZIRS VN
L= 3.63 + 2.47 = 6.10m
K 7)—rA(18N/mm2)
L= 3.63 + 2.47 = 6.10m
Faffka7)—hA(18N/mm2)
L= 445 + 1.54 = 5.99m
/A IE T-D(18N/mm2)
N= = 4 & T

14



5. fiEE DTy
(DEHEE LD T ry s

EE N = L

6. DYDY —R R

L
SvTU—Fie
]

e

R B o LA g R —

e M=l &

ErRaLz. Ak SusU—k a5 4T )
L1 erck-1EH e ot

“ L E gk TS

aal L) 7

1) 227U —R o ck=18N/mm2), ¥ (1)

R Wrm g | FHmEE | - | BPYER eS| B R
(m) (nd) (nd) (m) (m) (nd) (nd)
0.00 0.000
2.40 5.47 2.735 6.56 2.154 1.077 2.58
2.28 5.47 5.470 12.47 2.154 2.154 4.91
3.66 0.00 2.735 10.01 0.000 1.077 3.94
a7)—-MEEF 29.04 HIPAF 11.43

7. HETINE T (777 V7 4 —LNF50)

A = 96.3 m

8. 7myr=vh

A = 19.8 m

9. #—KL—(Gr-C-B)

L = 2.7m



L-500x500

16.9 m
L1-B500-H500
650
50 00
w175, 07
| _—
o Y
@ o | ! 1,\ w174, 57
B : !
M |
=i/ 300 -
RE-40 B
L H R H AT Y 0 R B
ay7Y—k o ck=18N/mm2 | ] 0.173 m3/m 2.915 m3
e FEAERR IR LD 1.300 m2/m 21.970 m2
R RC-40 t=15cm | - 0.700 m2/m 11.830 m2
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158EKES

N= 1 f&pT
G1-B500-L500-HE00
o i GC-BhHO0-LBA0
ST
- :F1$ —1H - ! 620
BlE T T N i 65 5100 §1‘
o :gi ! ~500
B | —_—— T
£2012 1 3
Y [T — oS
50 500 ]3( 1P S =3
800 ougsls T g
f?u:‘ '
110 410 (1B
HoU bl .
IE—O 500 |5-] = 4 i HEE )
I a4 E Al R - & = =2
2R jﬁ*-@ -« T oh-20im 2716
o 217507 :F ' Bt 30345 D15 4,303 ke
=, T LI r Tk 35407 15, ¥ 1 B9 ke
o § o - 'J: i DUEE 100x3 7 2 iE
B8 wls N I | oo T T :
oy 17457 '
B JE T R
T
RC-10 07
£ Hikg B BN Y0 & o
HFARET
a7 —h o ck=18N/mm2 [V=0.800"2%0.850-0.500"2%0.600
-0.64"2%0.100 =0.353 m3/fEAT 0.353 m3
e A=0.800%0.850%4+0.500%0.750%4
+0.640%0.100%4 =4.476 m2/MERT 4.476  m2
FLRER RC-40 t=15cm [0.900x0.900 =0.810 m2/®EAT 0.810 m2
FT 57 K08
a7 —hk o ck=24N/mm2 ] 0.019 m3/H 0.038 m3
Sk SD345,D13 4.309 kg/H 8.618 kg
L —h SS400 100x3.2 FEUERR FH X L0 4.697 kg/# 9.394 kg
UL 3R 100x3.2 - 2.000 & /% 4.000 &

17



SHEE= 7)) — A

7.0

m
£ FR JRRS A TR gy Fra
a7 —h o ck=18N/mm2 |V=1/2%0.500%0.250 =0.063 m3/m 0.441 m3
e A=0.250 =0.250 m2/m 1.750 m2
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SfEk= 7)) —B

7.1 m

£ FR JRRS A TR gy Fra
a7 —h o ck=18N/mm2 |V=1/2%0.350%0.175 =0.031 m3/m 0.220 m3
e A=0.175 =0.175 m2/m 1.243 m2
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K= 7V —hA

L= 7.0 m
FEimaAiU-tA 783
o[ it
i
('?f Tyl
s--'..r‘?)*‘Jr 1'1,?““;
e
£
£ JRRS TR gy Fra
a7 —h o ck=18N/mm2 |V=0.783x0.100 =0.078 m3/m 0.546 m3
izt 0.100xy (0.572+1) =0.112 m2/m 0.784 m2
e 0.100xy (0.472+1) =0.108 m2/m 0.756 m2

20



K227V —hRB L=

7.1 m
FRigA-B 615
gl ity g
i
.f.‘.)'x"r
=~ /
S - i
ST i/
Y ’.-' Jr.f
;"
£ JRRS A TR gy Fra
a7 —h o ck=18N/mm2 |V=0.615x0.100 =0.062 m3/m 0.440 m3
izt 0.100xy (0.572+1) =0.112 m2/m 0.795 m2
e 0.100xy (0.472+1) =0.108 m2/m 0.767 m2
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FETA L= 6.5 m
Ly,
RuEvsy-b 100 A )
‘ #;’ | P
. ,,’}! f!
= ’ /!
(N3 i
o S el
—
= T .
= op 550 1!0)
RC-40 250
£ FR JRRS A TR gy Fra
a7 —h o ck=18N/mm2 ] 0.136 m3/m 0.884 m3
e FEAERR XL 0.450 m2/m 2.925 m2
R RC—40 t=10cm . 0.750 m2/m 4.875 m2
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TR L= 7.0 m
&50
EEE2099-b 100 ;’ﬁ}j
‘ A‘;l \:;f;
of -7
N__ e
— _r -
=
Eﬁ*ﬁﬁ) 430 1‘03
RC-40 630 '
PN SR A BN H 0 R BB
a7 —h o ck=18N/mm2 ] 0.083 m3/m 0.581 m3
e FEAERR XL 0.350 m2/m 2.450 m2
B Rie) RC-40 t=10cm . 0.630  m2/m 4.410 m2
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/INALETA N= 1 &
123
S Fh JEAK A LA TIE gy Hoh
oy 7)Y —h o ck=18N/mm2 |V=((0.980+1.355)/2x0.750
+(0.848+1.231)/2x3.830)x0.300 =1.457 m3/Efr 1.457 m3
il e A=((0.980+1.355)/2x0.750
+(0.848+1.231)/2x3.830)x2 =9.714 m2/Efr 9.714 m2
ety A=4.580xy (0.5"2+1)x0.300 =1.536 m2/ T 1.536 m2

24



/O 1ETB N= 1 &
3
S Fh JEAK A LA TIE gy Hoh
a7y —h o ck=18N/mm2 [V=(0.783x0.100+(0.783+1.231)/2
x4.480)x0.300 =1.377 m3/&AT 1.377 m3
il e A=(0.783x0.100+(0.783+1.231)/2
x4.480)x2 =9.179 m2/&EfT 9.179 m2
ety A=4.580xy (0.5"2+1)x0.300 =1.536 m2/ T 1.536 m2

25



/INALET.C N= 1 &
W 124018
2| mDe
=173, 33
IR
S Fh JEAK A LA TIE gy Hoh
a7y —h o ck=18N/mm2 [V=(0.615x0.100+(0.615+0.750)/2
x1.350)x0.300 =0.295 m3/&AT 0.295 m3
il e A=(0.615x0.100+(0.615+0.750)/2
x1.350)x2 =1.966 m2/&EAT 1.966 m2
ety A=1.450xy (0.5"2+1)x0.300 =0.486 m2/ T 0.486 m2
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/NALETD N= 4 f&ipr
S Fh JEAK A LA TIE gy Hoh
a7y —h o ck=18N/mm2 [V=(0.783x0.100+(0.783+1.138)/2
x3.550)x0.300 =1.046 m3/EAT 4184 m3
il e A=(0.783x0.100+(0.783+1.138)/2
x3.650)x2 =6.976 m2/fEAT 27.904 m2
ety A=3.650xy (0.5"2+1)x0.300 =1.224 m2/ T 4.896 m2
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S oA = S N= 1 57T
150 2@1000=2000
! -178.15
\/'/Nm“‘\ =19 4u =2
- o , j"“‘“-—-_____qa .
FREEELL 50 5|‘ 2 ﬁ\;\ﬁﬁ-\ _: ,
i 4 £/ . ™
H e o~ i 1 5 L =
i
RC-40 250 BES L— b Sk IE 5 T 0 v 7 (6008
- PA4-+
M12 x 40-22
£ FR JRRS =%y TR gy Fra
s DT my s 60074 W150xL.1000 — 24 =2 1 2 A
AL LA V=0.15x0.020x2.000 =0.006 m3/m 0.006 m3
FERERA (1=100) RC-40 A=0.250%2.000 =0.500 m2/m 0.500 m2
WL — t=2.6mm N=1 =1 1 A
AN M12 N=2 =2 2 K
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